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class Point {
var x = 0.0, y = 0.0
subscript(index: Int) —> Double {
set {
if index == 0 {
x = newValue
} else if index == 1 {
y = newValue

¥
}
get {
if index == 0 {
return x
} else if index == 1 {
return y
}
return @
}

var p = Point()
plo] = 11.1

pl1l] = 22.2
print(p.x) // 11.1
print(p.y) // 22.2
print(plo]) // 11.1
print(pl[1]) // 22.2
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class Point {
var x = 0.0, y = 0.0
subscript(index: Int) —> Double {

get {
if index == 0 {
return x
} else if index == 1 {
return y
I3
return 0
I3
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class Point {
var x = 0.0, y = 0.0
subscript(index: Int) —> Double {
if index == 0 {
return x
} else if index == 1 {
return y

}

return 0
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class Point { class Sum {
var x = 0.0, y = 0.0 static subscript(vl: Int, v2: Int) —> Int {
subscript(index i: Int) —> Double { return vl + v2
if 1 ==0 { I3
return x }
} else if i == 1 { print(Sum[10, 201) // 30
return vy
Iy
return @
s
I3
var p = Point()
D.y = 22.2
print(pl[index: 11) // 22.2




Mizzrs EE0E, RERBHEIIEL

class Point {
var x =0, y =20
+
class PointManager {
var point = Point()
subscript(index: Int) —> Point {
get { point }

I3
I3
var pm = PointManager()
pm[@0].x = 11
pm[@].y = 22

// Point(x: 11, y: 22)
print(pm[@])

// Point(x: 11, y: 22)
print(pm.point)

struct Point {
var x =0, y =20
+
class PointManager {
var point = Point()
subscript(index: Int) —-> Point {
set { point = newValue }
get { point }
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class Grid {
var data = [
[0, 1, 21,
[3, 4, 51,
[6, 7, 8]
]

subscript(row: Int, column: Int) —> Int {

set {
guard row >= 0 && row < 3 && column >=
return
b
datalrow] [column] = newValue
I3
get {
guard row >= 0 && row < 3 && column >=
return @
b
return datalrow] [column]
b

0 & column < 3 else {

0 & column < 3 else {

var grid = Grid()
grid[o, 1] = 77
grid[1, 2] = 88
grid[2, @] = 99
print(grid.data)






